@ Tel: 090 998 9907
. Email: inffo@vimet.com.vn - Web: www.thietbioto.vn

VIFIET

Hydro-pneumatic blind rivet nut setting tools

FireFox® 2

- 24
; 5| 30
: ‘?Y 28
o 27

35 31 34

38
Lo

33 /L/Q@
160110

36
31 34

@ Tel: 090 998 9907
. Email: inffo@vimet.com.vn - Web: www.thietbioto.vn

VIFET

358 (ESI PA’ The experts in riveting technologies



@ Tel: 090 998 9907
.Email: info@vimet.com.vn - Web: www.thietbioto.vn

VIRET

Hydro-pneumatic blind rivet nut setting tools

FireFox® 2

Spare part no.

Article no. | Designation

143 6211  |Threaded mandrel M 3

143 6212 |Threaded mandrel M 4

143 6213  |Threaded mandrel M 5

143 6214  |Threaded mandrel M 6

143 6215  |Threaded mandrel M 8

143 6216 |Threaded mandrel M 10

143 6217  |Threaded mandrel M 12

143 6249  |Threaded mandrel 6-32 UNC
143 6250 |Threaded mandrel 8-32 UNC
143 6251 |Threaded mandrel 10-24 UNC
143 6252  |Threaded mandrel 10-32 UNF
143 6253  |Threaded mandrel 1/4"-20 UNC
143 6254  |Threaded mandrel 5/16"-18 UNC
143 6255 |Threaded mandrel 3/8"-16 UNC

|6 | 1446189 ISnapring |
|8 | 1446187 Ishdbot |
|10 | 1436201 |Hexogonolrod |
|16 | 1445427 [Alenscrew |
|18 | 1446013 [Oilscrewplg |

You will find spare part kits for FireFox® 2 on page 370.

Spare part no. | Article no. | Designation

[ s o et

144 6192 |Compression spring
|61 | 1436191

|69 | 1435642 ISider |
| 81 | 1436187 Rodsedl |
|89 | 1436226 IPsonsedl |
|91 | 1458116 |Aipison2, complete |

* Wearing parts

You will find spare part kits for FireFox® 2 on page 370.

@ Tel: 090 998 9907
. Email: info@vimet.com.vn - web: www.thietbioto.vn

vIFiET

The experts in riveting technologies

GESIPA' 359
V4




